P 2L d https://lwww.pass2lead.com/1z0-808.html
ass ea 2024 Latest pass2lead 170-808 PDF and VCE dumps Download

https://Pass2Lead.com

170-808%&As

Java SE 8 Programmer |

Pass Oracle 1Z0-808 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass2lead.com/1z0-808.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 120-808 Dumps | 120-808 PDF Dumps | 120-808 VCE Dumps 1/6


https://www.pass2lead.com/1z0-808.html
https://www.pass2lead.com/1z0-808.html
https://www.pass2lead.com/1z0-808.html

P 2L d https://lwww.pass2lead.com/1z0-808.html
ass ea 2024 Latest pass2lead 170-808 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 1

Given:

public class MyException extends RuntimeException { )

public cla=zs Test |
public static voild main{8tring(] args) |
tTry |
methodl () ;
¥
catch (MyException ne) |
System.out.print ("A") ;
}
}
public static wvolid methodli) { // line nl
try |
throw Math.randem() > 0.5 7new MyException() :new RuntimeExceptioni);

}

catch (RuntimeException re) |
Syetem. out.print ("B") ;

}

Which two code fragments are valid?

public static void main(String[] args) {
String[] p_anets = {"Mercury"”, "Venus", "Earth", "Marg"};

Syvstem.out. println(planets=.length) ;
Syztem.out.println (planets[1].length());

A. Option A

B. Option B

C. Option C

D. Option D

E. Option E

Correct Answer: BC

Explanation: When an abstract class is subclassed, the subclass usually provides implementations for all of the abstract
methods in its parent class (C). However, if it does not, then the subclass must also be declared abstract (B). Note: An

abstract class is a class that is declared abstract--it may or may not include abstract methods. Abstract classes cannot
be instantiated, but they can be subclassed.
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QUESTION 2
int n[l[] = ({1, 3}, {2, 4}};
for (int 1 = n.length — 1; 1 >= 0; 1—) {
for (int j = n[i].length - 1; j >= 0; j—--)
System.out.print (n[i][j]):
b
}

Given the following segment of code:

Mainjava 8 - jova version "1.8.0_31"

y Java(TM) SE Runtime Environment (build 1.8.0_31-b13)

; Java HotSpot(TM) 64-Bit Server W (build 25.31-b@7, mixed mode)
) class C { : 5 2

E S » javac -classpath .:/run_dir/junit-4.12.jar:/run_dir/hamcrest-c
= public C() { . ore-1.3.jar:/run_dir/json-simple-1.1.1.jar -d . Main. java

4 System.out.print("C "); Main.java:13: error: class A is public, should be declared in a
5 } file named A.java

6 } public class A extends B{

7 A

8 class B extends C{ 1 error

9 public B() { compiler exit status 1

10 System.out,.print("8 ");
11 }
12 }

13 public class A extends B{

15 public A(){

16 System.out.print("A ");

17 }

18 public static void main(Stringl[] args) {
19 A a = new Al);

20 }

21 }

Which two statements, if either were true, would make the code compile? (Choose two.)
A. MotorCycle is an interface that implements the Cycle class.

B. Cycle is an interface that is implemented by the MotorCycle class.

C. Cycle is an abstract superclass of MotorCycle.

D. Cycle and MotorCycle both extend the Transportation superclass.

E. Cycle and MotorCycle both implement the Transportation interface.

F. MotorCycle is a superclass of Cycle.

Correct Answer: BC

QUESTION 3

Given the class definitions:
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And the code fragment of the main() method,

What is the result?

A. Java Java Java
B. Java Jeve va

C. Java Jeve ve

D. Compilation fails

Correct Answer: D

QUESTION 4

Which of the following can fill in the blank in this code to make it compile? (Select 2 options.)

Exception {

1. public void method()
2. Exception();
3, 1

A. On line 1, fill in throws
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B. On line 1, fill in throws new

C. On line 2, fill in throw new

D. On line 2, fill in throws

E. On line 2, fill in throws new

Correct Answer: AC

Option A and C are the correct answer.

In a method declaration, the keyword throws is used. So here at line 1 we have to use option A.

To actually throw an exception, the keyword throw is used and a new exception is created, so at line 2 we
have to use throw and new keywords, which is option C. Finally it will look like;

public void method() throws Exception {

throw new ExceptionO;

}

REFERENCE : httpsy/docs.oracle.com/javase/tutorial/essential/io/fileOps.html#exception The correct

answer is: On line 1, fill in throws. On line 2, fill in throw new

QUESTION 5

Given the code fragment:

C. while (x >= 0) {
System.out.print (array[x]);
=

}

L. do {

System.out.print (arraylx]);
——x;
} while (x >= 0);

E. while (x > 0) {

System.out.print (array[--x]);

Which two code fragments can be independently inserted at line nl to enable the code to print the elements of the array
in reverse order? (Choose two.)
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class Test
int al;

public static void doProduct (int a) {

a—a * a;

public static void doString(StringBuilder s) {
+ 8);

b

S.append (™

public static voild main(String[] args) |

Test item = new Test():
item.al = 11;
StringBuilder sb = new StringBuilder (“Hello”):;

Integer 1 = 10;

doProduct (1) ;

doString(sh) ;

doProduct (item.al) ;

Sysbem.vub.prinllo{i + ™ ™ 4+ sb + " ™ + ilLem.al);

public static void main (String[] args) {

String[] arr = (MHi"”, “How"”, "“Are”™, “You");
List<B8tring> arrlist = new BErrayList<> (hrrays.aslist (arr);
if farsTisb.removeIl{(Sleing 3) —> frelurn s.leuyglh{) <= 2;1)) {

System.cut.println(s + “removed”)”’

C.D.E.

Correct Answer: AE
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